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3.1 HEHMIRE

1. if iE5)
if 154 =Fh B 2
(D if B EEAIE L K 3.1 s,

if(Fix)

A
(2) if-else B2, A 3. 2 FIoR
if (FRiEH)

A1

else

WA 2;

!
i) it a2

* ;
|

B 3.1 if a3 ARIE B 3.2 if-else JER

(3) if iR ER A WK 3.3 iR,

if(FiA 1) WAL
else if (Fikz 2) A 2;

else if(FiX K n) WA n;
else B nt1;
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i i a2 ifrn it
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i

Kl 3.3 il i EE

if T AE A Ao AR v A A M

(D) FELL B =FOE 0 if i 4) h o if J5 m s 5 rh i oy Rk, i &aa 0l w2 2
Fb A E KRR IKA WA DR AL A F 3k 5, Wkl 3Rk =045, 2 d ] D& —4
A g, . f(x=2) A COZ RN, RERBIXS B EWENIE N E”, HE
MR R = AR 0 B AR, e if(x=2) %, i TIRAE R A X x=2 B{E K
AR 0, BT A iIe A & x IE R 2D, KX R B, FEH 5 £k X E R, 55 51
HFEXDRRBRHF =="FWKEZH 5= X 50, 25 W oA 82 5, A
== AR =,

(2) FEAEUTHEN LR HOFEMT if(x! =0); (I 0OFMF if(x==0),

(3) 7E if TH/A) e, Z 0 e 3R 3k 2 b 50 (B 466 5 5 B R 7R 1B ) Z J5 b A 45

(D) FE i A =R X, BT 15 R34 0 Sk BN TR G SR AR N R — o A PR I R
17— 2B m) W75 20— 20 iR ) O 3R A i — R 2 G il 1),

(5) Y if FHA P IATIE A) O i BRI AL T i B ik E IR, EiREN T
if 1A AR 2 if-else JEZUM, XK S L2 A if FIZA else & A L, 3 R0 22 34 32
if Fl else MFECXS (MR, if B else BCXTAY SR, .« else B T & LAY BT HRIEN K
Be Xt if BEATECXT . LA b = A A Be— AT

2. switch i&%H)

switch TR Y —BIE A, an &l 3. 4 s .

switch(FEikRK)

{

case F ik 1: [HAJFF 1], break;
case ¥t FiLX 2: [BA]FF 2]; break;

case F i # A n: [IHH]FF] n]; break;
[default:iEA]JFH n+ 1; break; ]



switch
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TR RN ifie2 ifit)én e n+
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K 3.4 switch i&A]

switch 15476 (1 2 8 v 75 2 0 = 1 H 7 -

(1) switch iR AT FE . T switch 85 TR B X E,IFZBN S case J5 T
1 R A B E AT H AL, R B RS F A Rk A (AR SF i, R AT H i i
Al WRFRIR XS A case J5 Y8 5 3235 X0 (H B H S50, AT default 5 H
1T

(2) switch J& T 9 22 3K b 5 & B A R R Ul F A7 R A 2L,

(3) case Ji TH B Y 28 358 20 202 8 A ol -4 A8 1 8 Rk 2L,

(D) A case J5 W H 1 R IR E A REAR [A] , 75 0] 25 Hy BLAR 1%

(5) TE case J5 1H A LU 2 4518 /m) , 1 H AT ORI F6 R

(6) Al LA default 5037

(7) 7EH break KEFM M . break HF case 7 LB A ALY J5 1, 3278 B2 P 047 21 Bk
A, 1% break FT7EMY) switch A Z5 0, A B HATIE B A . WHER —A4> case 5332 ik fy
break , W 7E AT 58 1% 53 SR ATD 9K 23 4% S5 T 45 18 M 30 AT T 23 S Ry AL a7 T )
switch #A) 1, QN RS i x MI(ER 1, B TIRATALE case 1 282 S TN break, BT AR ¥ 7 44
1158 case 1 0 LI AISR AT case 2 4330, LI A B IR 45 L “x==1 x== 27, M~ &

ALX::1’7O

switch(x)
{

case 1: printf("x==

)

1m);
case 2: printf("x==2");

3.2 2L HB

(1) ALREPR RS IR LR LEH AT if-else R AR B L L if-else if-else L) 2 Tk %
45, LA K switeh AR 2 B SR A5 M RO HT .

(2) PIRERERA TP INLRRANBE .

(3) 24 Ve P 45 1 4 il 157 B0 0 72 5

i #F 2 ALK T

o w W
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1. il

BOR ARG =B a b o B REUFIRFE AR 5 a th B/ NBUFFTRE 2 &t ¢ v, IR 4N
T /N B i

5%

T A2 — A A7 R0 E5 i HE T A TR) R, HE S R AR R LR BE 4 SR P BRI R

(1) 8 a A b, J R a<<b, DK a.b A(E AT A5,

(2) W# a fl o, AR a<<c, MK a.c ROMEIEATACHR .

(3) H# b A e R b<<c, UK b.c MM IEAT A

(D) P4 ab.c.

(G EdE) |

R E LA 3.5,

K A2 it
a,b.cf i

A& {fia,bIYI (i

—

A& ffia.chy i

I

A2 Hfitb el i
—

(55771

# include < stdio. h>
int main()

{



int a, b, ¢, temp;
printf("Input a,b and c:\n");
scanf(" $d%d%d", &, &b, &c);

printf("Before sorting: a= %d,

b=%d, c= $d\n", a, b, ¢);

if (a<b) { temp=a; a=b; b= temp; }
if (a<c) { temp=a; a=c; c= temp; }
if (b<c) { temp=Db; b=c; c= temp; }
printf("After sorting:a= %d, b= %$d, c= %$d\n", a, b, c);

return 0;

}
2. PR B

HIS J53 XoF S 4, 2 A WAL 2R b oy - BRI T2 9% 0.2 JT, AN TR B R BEHE R 3.1 TR

AT R
*3.1 MEAAEECRKNHRE
i /kg Wi 2 b i/ T
/NF 10 0. 80
KFHZTF 10 B ARB T 20 0.75
KF T 20 0.70

95 R AL B A T Y Y i b A5 R DR B P NED

(€Ea) |
AR LI 3.6 FTos

weight<<20

cost=0.80*weight+0.2

cost=0.75*weight+0.2

cost=0.70*weight+0.2

!

!

'
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# include < stdio. h>
void main()
{
float weight, cost;
printf("Enter weight: \n");
scanf(" $ £ ", &weight);
if (weight < 10)
cost =0.80 * weight + 0. 2;
else if(weight < 20)
cost =0.75 * weight + 0.2;
else
cost =0.70 ¥ weight + 0.2;

)

printf("Delivery cost is % .2f\n",cost);

}

(W]

(1) B E 3.7 B i SRS b de 7 S8 soh i [ o A s gl 3.8 i
AN E R SO EAE L ik P T EAS TR A R e I, 3 R R R T A (IR 3.9
Fi7R) s B0 Db B B sy 32 30 R i IR R L & o R A A DI RB A R

(2) FEIF PRI b6, B 98 T B A p i e BB G B A (F1 D)), i D) e 2 5 28
AT BT — R AT — 47 CAN & 3. 10 FT7R) » 4 1 11 v B9 77 Sk i 1) S — 47, 3RR P 22
PATiZAT. B 3,010 R 5 S R i AR A L WAL AT DR A R M

(3) B A (BB A) (F11)) W, B8 7 3T B S A A)iX — 47 Can &l 3. 11 i), [#]
Wiz 475 H (& 3. 12) @78 Enter weight. , 4k 9 $i #8 GR 1B 4] (F11) L fE B 17 % [ p
By 25 3.13) 4% Enter )5 , & k451 T if (weight<T10) X — 17 (WA 3. 14 R 16
WAL B 11 HR AT LA $) AF i weight BI{HJE 25. 000000,
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B 0 el DIFE RSB cost AR 17. 700001,
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(6) M. #5413 (Stop Debugging) , #2 7 P8 45
3. gahilfy

AR T Y T RE R AR 25 1 B A IS A . SR AR IR I O S BOR T ER
ST 90 I A gL KT EE T 80 H/NT 90 4k B 4, K F e T 70 HL/NT 80 401
M C % RTHEET 60 H/ANT 70 7008 D % WM EUNT 60 W E 9. BB K7 %
R AR FR ) switch AT SEHEL,

(€D |

B B9, EX— PRI E score ARIEZ N5 SR)5 . J score (R LA 10,45 5%
H— AT 0~10 EEC FEHIX A S5 RAE A switch B AR XXM, 5 AR B case 4>
LHEATILRL

[Z51)7]

# include < stdio. h>

int main()

{ int score; WL &A% R s
int n;
char grade; V=39
scanf (" $d", &score); /7% A7 3k St
n = score/10;
switch (n) /¥ NG5

{ case10:

case 9: grade = 'A'; break;

case 8: grade = 'B'; break;

case 7: grade = 'C'; break;

case 6: grade = 'D'; break;

case 5:

case 4:

case 3:

case 2:

case 1:

case 0: grade = 'E'; break;

default: printf("Input error!\n"); return; //%i AM3FEAFE 0~100
}
printf("Grade is % c\n", grade); / /% S A

return O,

3.3.2 #AHsH
BT R , SIS 1745

# include < stdio. h>
int main()
{ int x=1,y=0,a=0,b=0;
switch(x)
{ case 1:
switch(y)
{ case 0: at+; break;



case 1: Dbt+; break;
}
case 2: at+;btt; break;
case 3: at+;bt++;
}
printf("\na= %$d,b= %d",a,b);
return 0;

}

[ 51

(D) f AR BACHS 25 PF B R R I8 1T R 7 R B IIES R . a=2.b=1,

(2) MEEFIBITEE RN XE—4 switch AR EL X, HNE switch F.x 1
B0 1A LLEA case 1 40, BIFRAT N JZ switch i4], ZENJZE switch .y BI{E R 0.3
AW JZE switch W case 0 4337, BLBF $0AT a+ +.a BOMEHZA N 1, 2R )5 01T break 4], BT
break HAEZ 1E I8k B ir — 2 89 switch #54), fr LA AR Y break 2k T )2 Y switch
WA, FEAMNZ switch iH] 1, case 1 73 L IR A break 54] , 2 4R 2L AT case 2 433
HRIEAH AT T at M b+ a BEZE R T 2,b BMEAE R 1, 7E AL 3 T break
WA ZAEIEEE TAMNZ 0 switch 18], B, et a A b B{E 5510 2 A1,

3.4 B £ T

(1) Al % i Y 24 4 4R 4l AT 2 8, FH swiiteh i AT SCBE . A TARF (& %5 F) 100 000
JCHY AT 102 5 FIE T 100 000 J6 K T (% 5§ T) 200 000 JTHF, K T 100 000 JCHY
BT 10 Yo $2 WL, = T 100 000 JC MY FE 43, AT 4 AL 7. 5% 24 200 000 G <<I<<400 000 JC
B AR F 200 000 JCIER A 5 4% 1 iR I i 42 B CT IRD) & &5 1 200 000 JG 18 43 3% 5 %6 $2 15
24400 000 JE<TI<< 600 000 JGHT, B T 400 000 JCHIFF 433 3% $2 M 24 600 000 JE<<I<<
1000 000 JCHY , & F 600 000 JLAYHEB 4% 1.5 % A 24 11000 000 JGHT . it 1000 000 TG
FOF o4 100 BRI . DB SE S A 4 7 R 1, 3R 0 & 42 4 K.

(2) WA= =551 as by c IMH.FIW X =KD REEWER =M. ik, B2 RR
ZE MRS A S =AY HA AR E A,

R FIWH B = AP B 55 BAE BN Z FIR T4 =3l .

(3) WERF I EAERNA 4G, C RHVRAT B A7 5 U A [8) 39 B 0% R 23843 500 0
AR 2.55% . —4F 2. 75%, TAFE 3.35% , =AFE 4. 00% , TLAE 4. 75 % . R AARER A 4 A
BRI e P AR 4 RR B AT

R . FI I A RET i AAS 4 FAF AR BR o 8 switch 18 /) &b AN [a] 399 R 7)1
B o KR A 4 B AH Y ) 2B R B VR R L switeh 35 A HP g 2 ik X 28 R 0h 0 R o ) B
FFRY X T2 A4 (0.5 AF) B O, BEAE switch #A) S Bl b 34

(D) HERETF IR CHLE R S AR A A R0, BB

RN ENE MO FR FELE SR RFR O F) A% RSN O,
ZTM RO R YD) s T BT S A0 AN [A) Y A6 AR g (e AL A8 BLH LKL L. M. N,
Q. T X4 Mgt A—FE) . ZM AN . F AL ERAAGM.CHRIAFHAMM.Y i
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